QUES 06

A graph ofx versus e shownin 1.

Choose thecorrct aematves gven beiow.
(a) The particle was released from rest att =0

(5) At the scoslerstiona >0

(©)ALC, the velocty and the acoseraion vanish.

(d) Average velochyfor the motion between Asnd D s postive.
(6)The speed at D exceeds tht at E

Sok(a.c.e)

Key concept e know that vlocty v = /1 nd siope f 1 ragh gves

s vloot. This imples slope = 4/t for the graph.

A per the diogram, at point A the raph is paralle 1 time i, hence dx

Ve dudte0 e Thas opton
(@)is conect.

ence we can say thatvelocity vanishes. Hence option (¢ correct

From the raph s clear that | sope at Dl > slope at |
Hence, speed 1 D wil e more than at E Hence option () s correct




